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Q.P Code: 23469
[Timme: 3 Hrsurs | [Marks: 0|
B ) Question 1 iz compulsory,
23 Altemnpt any three questions from the remaining questions,
i) Assume suitable data wherever applicable.

I {a)  Explain various image representation technigues. &
{tt  Explain parallel and perspective projections 5
i) Explain the differences between compunes graphizs and virtual reality . 3
fd} Explain any test to determine whether the point is ingide or nula[dc ﬁﬁm!j;{e_r;-n.- 5

& in) Expliin graphics refdering pipeline for virmeal reslioe 1
(i Explain Sutherland Hodgeman palygon clipping algoeithm, State its drawhbacks [0

and gxplain how it can be solved.

3 {al What is the gignificance ofmodefing in virmual ceality? Expiain any modeling Rl
Eechnigque.

(b} With respeet to 3D trafsformations, deseribe the'steps to be cartied oul whenan 16
ohject is to be rotated sbout-an axis that is ot paralfiel 4o any of the coordinate
axis. Specify alﬁﬂ:e required matrices, Siate. ¥our assumptions clearly.

4 {a)  Swe mathematical éqoation Tor Be#ier curve. Find the Bezier curve which stans [
at (Ree Yol =42, 2} andends af 1% ¥al = 14 1) which Kias the contral
points [Xas ¥od = 0, L} apd: fea ¥eb = 43, -0} pacpiotively,

(b) Write a function to fill a region boundary by different colour boundaries using (i
connected approach. Explain the alyorithm with example

5 {a) - Consider a trigngle ABC whose cocrdinates are A (1, 2), B (3. 4), C (5, i g [0
‘Periorm ths following teanslomuticns; Iﬂpe:mh the matrices that are used)
i} Trunblatﬂhﬁ'gwﬂn trigngle-bv 3 mits in X direction and -2 units in Y
direction 5
il} Raomale the gw:n trzangle by 30°
Ay Heflect the given trianglé about ¥ axis
iv) Scalethe gwﬁﬁ trizngte uniformly by 2 units in X and ¥ dircction
vl Reflect the given triangle abour X=Y

(hy  Dwaw a lire feom (10, 13) 1o (=20, 25) using Bresenham’s line drawing algorithm. 10

i Write short note on {any four) 2
{a) Fractals
(b} Types of virmual reality systems.
o) Color models
idl  Bespline curve

(e} Application of virfual realiny
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Q. P Code : 23701

( 3 Hours ) | Total Marks : 80
Dueztion Mo 1 s compulsory,
1. Solve any three questions our of remniting five quentiops (‘ '
' oAssurns siiible dets if ascessany '-..:
A Pl o gl andicals mueks b
0. | Solve-any fowr outof five 20}

v 8 What ore the design matrics of Embedded Systems’
b. Describe the imstructions of 805] , JNC and MUL with one example. |
¢, 8051 microcontroller with XTAL frequency = 11,0592 MHz Find the TH value
needed to have the lollowing baud ries of 9600,
d. Deseribe the feature of ARM that makes it suitable for embedded systen
& What Is semaphore? Explain the use of semaphore with respest to embedded operating

Syslens,
Q. 2. a) Digcuss Smart Card Reader System in detail. (1)

b Hiustrate scheduling algorithms of tasks in real time systems {1
Q. 3. &) Expliin multiple register load and store instiactions of ARMT processor. {10)

b} Wrire rgsembly language program to generate a rectangular waveform of frequency
| EHe and 30% duty cvele at pin P1.7 using 8051, Assume B05] operating frequency

|2MH, {14}
. 4. a) Write assembly language program for 8051 microcontroller to tmnsfer message
“ARNT senally at baond rate of 2400 in mode | (103
b} Explain wilh oné example each, the addressing modes of 8051 microcontroller ( 10}
(2. 3. &) Define and ¢lassify the embedded svstems also list major application areas of
embedded systams. {10y
b Give details of Barrel Shifter of ARMT processor and the varions operations carried
out by the same, {151}
Q. 0. 2] Lt funchions of Kernel, Alse explain difTerest types of kernel (10

by Explin amerrups stucmaze of 8051 micreeoncroller in deil { 10}
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Q. P, Code; 23442

Time: 3 hours Marks: 80
NoB: 1L Question T is compulsory, II
1. Altempt any three ot of remaining.
3. Assume saitahle data if required.
=1 Attempt any four questions
a) Consider a suitable relation schema and perform nested query and query using 5
group by clause.
by  Explain ECA Modsl, 5
&) What is view?T Dhiscuss the difference between o view and baze relation. 5
d) Detine a lock and deseribe the types of locks used inconcurrency controt, ]
&) List differentiation between OLTP and OLAP ]
Qu-2 ) What is 30LJ used for? Describe the two types of iterators avatlable in SOLI. 10
Q-2 h)  Differentiate between static and dynamic SQL? Which ene 1s more efficient? 16
Qu-3 a) Describe ARTES recovery algorithm with example. 1
b} Explan Indexing Technique in the database. 10
Qu-4 a) Fuind the cost of data trapsfer over the network for fallowing details. Employee 14
table is at site | with 10,000 rows. Each row size is 100 bytes. Department table —
is at site 2 with- 100 rows. Each row size is 35 bytes. Find optimum solution for o
data transfer if fdlh\huk query is executed from site 3, /
Query: For éach w& retrieve the emp name nmi ‘dept_name where |
einployee warks. ' ‘\
Stze of resull tuple 15 40 bytes.
- ! e ==
b) Explain different ways of coneurrency contral in DDBMS 10
Qu-5 LConsider a data ware hﬂﬁ.ﬁg_f‘nra hospital where there are three dimensions: 20
1) Doctor 2) Patient and 3) Time
And two measures count and charge.
Using above example perfgrm following
§] STAR schema
i) snowilake schema
i} R&LhrF.& Drrilldown operations
ivi  Piotoperation-
¥) Slice and Dice operations
Q-6 Explain the fallowing concepts with the help of example.
a)  SUL Injection 5
b) Mendatory Aceess Control -3
€) Seatisticat Database 5
d) Timestamp Ordering Protocaol 5
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Q.F. Code :25137 i

[Time: Three Hours| | Marks:34]

Please check whether you have got the right quqa'tlﬂn pnp!:r
Chuestion, 'N-n 1is :mnp.ulsc-n
Solve any 3 from remamini,
Agsume suituble dats wherg ever necessary,

M.G:

t Hd —

Aempt the Fallow ing:

Compare open source softwares with closed dource softwares,
How tor sevure servers with [ptables.

Fxplain backup relsted communds m Lz,

esoribe role of Intent i Android Progranmuiming,

Explain various open source software licenses,
Wrile nile on sed, Show how can it bo used in following cases

{) As replacement for head command. "u-
i} Ay utility for deleting all occurrences of mmg "'EiHF."ﬁbm u:lput

Faplain commands for new ser creation i me;._
Explain use of wget and curl communds to get Wl:'ha:ilil._t conlenty.

Write a netw on process mansgentent w Linux. Explan relevant commands.

Explain grep, out, tr, sorl and unig commands with twa nj:li-;:ln._iaud their snample usage.

Faplain Apache web server configuration i Linux
Explain Linax File system hieearchy. Explain role of any five dirsctories,

6 Write short sotes on following {any four)

a)

) B

c)
d)

:]!_

Publishing the Andraid application
Android Activity Life-Cycle
Dhiemon process
Role of it signal,
Logical Velume Manager

= f',ji, e

I
kb ERd kb EvaRa i AR R TEe s R

20

10
10

1
I

10
10

10
10

05
]
05
0=
0s



